Item

WHEREAS, **ISAT U** invited Bids for certain goods and ancillary services, particularly the **PROCUREMENT OF FURNITURE AND FIXTURES FOR VARIOUS OFFICES** with Project Reference No. ISAT U GOODS – 2024 – 03 – 051 and has accepted a Bid by the **SUPPLIER** in the sum of **ONE MILLION FOUR THOUSAND FOUR HUNDRED PESOS** (**PhP 1,004,400.00**) **ONLY**, hereinafter called the "Contract Price".

## NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

- In this Agreement words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract referred to;
- 2. The following documents as required by the 2016 revised Implementing Rules and Regulations of Republic Act No. 9184 shall be deemed to form and be read and construed as integral part of this Agreement, *viz*.:

Qtv/

- i. Philippine Bidding Documents (PBDs);
  - i. Schedule of Requirements;
  - ii. Technical Specifications;

No.	Description/Brand	Unit	Unit Price	Total Price
1	Cabinet Brand: BIZOE FC-E18 5 layer steel cabinet with sliding glass doors-lockable steel doors with duplicate keys. Adjustable shelf height, - powdercoated finish, -ga24 metal sheet, -heavy duty ball bearing rollers, -heavy duty-commercial grade Color: Light Gray Dimension: (WxDxH): 900x400x1850	4 units	9,500.00	38,000.00
2	Table Brand: BIZOE BZ-061 Office Desk Table-steel office table with 3 drawers 1 central lock steel with powder coating Dimension: 120 x 60 cm	2 units	7,800.00	15,600.00
3	Chair Brand: SENTI MNLY CB1 Chair-ergonomically designed for excellent chair and stable compatibility; Non-color Fading With armrest Color: Blue	100 units	4,500.00	450,000.00
4	Chair Brand: YIXIANG EC-905 Chair-Junior executive chair armrest and gas lift, Fabric mesh, Color; Black	20 units	8,500.00	170,000.00
5	Chair Brand: TIANLE TL-032 Chair-Conference/Visitor chair with Armrest, with back mesh Fabric and Leather upholstered seat, Color Black	4 units	5,500.00	22,000.00
6	Chair Brand: BIZOE BZ- 058 Executive Chair-features: Sleep smooth leather executive chair reclining office, aluminum alloy or steel feet; fixed armrest, Color; Black	4 units	9,500.00	38,000.00

	7	Table Brand: TIANLE TL-L160 Table-Executive Table, General 6 Feet Executive L-Shape Office Table with Twins Swinging Door Low cabinet Color: Walnut	3 units	24,000.00	72,000.00
	8	Chair Brand: BIZOE BZ-058 Executive Chair-Executive high back leather chair, full black with armrest with foot rest	5 units	9,500.00	47,500.00
ANO	9	Cabinet Brand: BIZOE FC-B18 High Quality, Multi-layer partitions, Glass door locker, Multi Functional shelves, 6 Adjustable shelves, Dimension: L90.5 W40 x H185cm Swing Door, Color: Light Gray	1 unit	9,000.00	9,000.00
JANEY P. CEMBRANO Authorized Representative	10	Chair Brand: BIZOE W-50 High back with head rest; Material a combination of mesh and fabric, Metal and PU nylon armrest Chrome base adjustabe seat height with tilt mechanism 360 degree swivel function   Color: Black   Dimensions: 61(W) x 62(D) x 109-119(H) cm   Weights 15kgs.	2 units	9,500.00	19,000.00
SALISTRE JR., PEE, DIT	11	Chair Brand: BIZOE W-75 Executive Chair Adjustable 3D armrest for a perfect fit; With Mesh back and padded fabric seat; Adjustable head rest and foot rest; Wire control mechanism; swivel and tilt-lock functions; With aluminum star base and PU caster; Dimensions:65(W) x 50(D) x 129(H)cm   Weight:23 kgs   Color: Black	1 unit	12,800.00	12,800.00
GABRIEL M. SALISTRE JR., SUC President III	12	Office Table Brand: BIZOE HSB-022 Dimension:140L x 60W x 74H cm 4 Drawer, 1 Door, with key; Color: Walnut	1 unit	9,500.00	9,500.00
APUD, DIT	13	Executive Chair Brand: BIZOE W-65 Ergonomic Executive Chair Description/Specifications; High back executive chair with adjustable headrest   Full Lumbar support ANSI/BIFMA Standard Black mesh seat and Black Painted steel tube frame.   Gray steel legs Synchro-mechanism with tension adjustment Soft gel arm pads	4 units	9,500.00	38,000.00
RUSS ALLEN B. NAPUD, DIT	14	Steel Cabinet Brand: BIZOE FC-A18 Filing Steel Cabinet-Gauge 22 Steel Door with 4 shelves, with lock Material: Steel Color: Light Gray   Dimension: L36" x W16" xH72"/90x40x185cm   Swing door	4 units	9,000.00	36,000.00
	15	Steel Cabinet Brand: BIZOE FC-E18 Filing Steel Cabinet-Glass cover 2 door with lock 5 shelves Material: Steel   Color: Light Gray   Dimension: L36" x W16" xH72"/90x40x185cm   Swing door	3 units	9,000.00	27,000.00
RN,		Delivery Period: 30 calendar days			
RAMY B. DEMOTICA, RN, LPT Executive Assistant		Warranty Period: 1 year After Sales Services: With service centers within the			
Itive Itive		// // // // // // // // // // // // //			
B.D		For official use of the University			
M		Requested by: Ramy D. Demotica			N.D. 4.004.400.00
5		TOTAL BID AMOUNT		F	PhP 1,004,400.00

- iii. General and Special Conditions of Contract; and
- iv. Supplemental or Bid Bulletins, if any
- ii. Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents or statements submitted;

Bid form, including all the documents/statements contained in the Bidder's bidding envelopes, as annexes, and all other documents submitted (e.g., Bidder's response to request for clarifications on the bid), including corrections to the bid, if any, resulting from the Procuring Entity's bid evaluation;

- iii. Performance Security;
- iv. Notice of Award of Contract; and the Bidder's conforme thereto; and
- Other contract documents that may be required by existing laws and/or the Procuring Entity concerned in the PBDs. Winning bidder agrees that additional contract documents or information prescribed by the GPPB that are subsequently required for submission after the contract execution, such as the Notice to Proceed, Variation Orders, and Warranty Security, shall likewise form part of the Contract.
- In consideration for the sum of ONE MILLION FOUR THOUSAND FOUR HUNDRED PESOS (PhP 1,004,400.00) ONLY or such other sums as may be ascertained, the SOLIDGOLD MULTI RESOURCES CORPORATION agrees to supply and deliver FURNITURE AND FIXTURES FOR VARIOUS OFFICES in accordance with his/her/its Bid.
- 4. The ILOILO SCIENCE AND TECHNOLOGY UNIVERSITY agrees to pay the above-mentioned sum in accordance with the terms of the Bidding.

IN WITNESS WHEREOF the parties hereto have caused this Agreement to be executed in accordance with the laws of the Republic of the Philippines on the day and year first above written.

ILOILO SCIENCE AND TECHNOLOGY UNIVERSITY (ISAT U)

By:

GABRIEL M. SALISTRE, JR., PEE, DIT
SUC President III

SOLIDGOLD MULTI RESOURCES
CORPORATION

By:

JANET P. CEMBRANO
Authorized Representative

WITNESSETH:

RAMY D. DEMOTICA, RN, LPT Executive Assistant

RUSS ALLEN E. NAPUD, DIT
Vice President for Administration and Finance

REPUBLIC OF THE PHILIPPINES:		
CITY OF ILOILO	:	S.S
X	X	

## **ACKNOWLEDGMENT**

Before me, a Notary Public, in the City of Iloilo, this day of, 2024 personally appeared the following persons who exhibited their identification cards to establish their identities, to wit:						
	Name	Government ID	Place Issued	Date Issued		
1	GABRIEL M. SALISTRE JR., PEE, DIT	ID NUMBER 04-0232	<u>ISAT</u> <u>UNIVERSITY</u> <u>ILOILO CITY</u>	05 August 2023		

2 JANET P. CEMBRANO 417-690-46 11010 CM JCM-31, 2012

They are known to me to be the same persons who executed the foregoing instrument and they acknowledged to me that the same is their free, voluntary act and deed as well as the voluntary act of the institution / agencies they represent.

The instrument consists of four (4) pages including this page wherein this acknowledgement is written and duly signed by the parties and their witnesses on each and every page hereof.

WITNESS MY HAND AND SEAL, on the date and place above written.

JOENEL T. ALIPAO Notary Public and City of Hollo Reg. No. 72, Until Dec. 31, 2024 Rm. 207, 2nd Fir. Lucky Plaza Bldg. Quezon St., Hollo City IBP No. 357542 - Pasig City 08/14/2023 PTR No. 8341723 - Hollo City 01/04/2024 Roll No. 31023

Doc No. Page No. Book No. Series of 48